Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#:	31772	Title:10-18 Dry
		and Staple
		Foods

Quote# Vendor / Supplier	Ouetc#	Vandar / Cumpliar	EDCNIT	Discount
INCORPORATED			LICINI	Discount
492876 ADVANTAGE WAYPOINT LLC Yes, zero 492892 BARILLA AMERICA INC yes zero 492891 BASIC AMERICAN INC DBA BASIC AMERICAN No - 10,000 492904 *BRAUN BEEF CO INC Yes 1/2% 10	492844		N1 -	00/
492892 BARILLA AMERICA INC				
492891 BASIC AMERICAN INC DBA BASIC AMERICAN No				
492904 *BRAUN BEEF CO INC			yes	zero
492914 *BUSH BROTHERS & COMPANY BYRNE BROTHERS FOODS. INC No None				
BYRNE BROTHERS FOODS. INC 492890 *C H GUENTHER & SON INC DBA PIONEER				
492890 °C H GUENTHER & SON INC DBA PIONEER	492914			_
CHURCHFIELD TRADING CO. 492853 CONAGRA FOODS INCORPORATED NO N/A 492890 CUSTOM CULINARY INCORPORATED NO N/A 492896 **ES FOODS Yes 0 492889 GOLDEN VALLEY MANAGEMENT DBA ENVY Yes, Zero 492887 GOOD SOURCE SOLUTIONS DBA TOOLS FOR Yes- 492885 INDIAN HARVEST SPECIALTIFOODS INC Yes 0 492885 JR SIMPLOT COMPANY Yes direct 492869 JR SIMPLOT COMPANY Yes direct				
492853 CONAGRA FOODS INCORPORATED NO N/A 492900 CUSTOM CULINARY INCORPORATED NO N/A 492896 *ES FOODS Yes 0 492897 GOOD SOURCE SOLUTIONS DBA TOOLS FOR Yes- 492895 HARVEST HILL BEVERAGE COMPANY Yes 0 492885 INDIAN HARVEST SPECIALTIFOODS INC Yes direct 492869 J R SIMPLOT COMPANY Yes direct	492890			
492900 CUSTOM CULINARY INCORPORATED	l			
492896 *ES FOODS Yes 0				,, .
492889 GOLDEN VALLEY MANAGEMENT DBA ENVY Yes, Zero 492897 GOOD SOURCE SOLUTIONS DBA TOOLS FOR yes- n/a 492895 HARVEST HILL BEVERAGE COMPANY Yes 0 492885 INDIAN HARVEST SPECIALTIFOODS INC yes 1 case 492869 J R SIMPLOT COMPANY Yes direct				
492897 GOOD SOURCE SOLUTIONS DBA TOOLS FOR 492895 HARVEST HILL BEVERAGE COMPANY yes- n/a 0 492885 INDIAN HARVEST SPECIALTIFOODS INC 492869 J R SIMPLOT COMPANY yes 1 case direct				
492895 HARVEST HILL BEVERAGE COMPANY 492885 INDIAN HARVEST SPECIALTIFOODS INC 492869 J R SIMPLOT COMPANY Yes direct				
492885 INDIAN HARVEST SPECIALTIFOODS INC yes 1 case 492869 J R SIMPLOT COMPANY Yes direct				
492869 J R SIMPLOT COMPANY Yes direct				
TOLOGO O IL OIMI LOT COMI AITT				
#492920 JNS FOODS INC				
432302 KENO 1 0000 INO				Specific
432003 KENT PRECISION FOODS INCORPORATED				
432040 MICEARE EXITEDO MODEL ORATED				
402000 MINIMON INDUSTRIES EEG DEA MILLES				
432042 NATIONAL FOOD CROOF INC				
432073 NEOTEE WATERO NORTH AMERICA				
432047 NOTICALITIC			162	
492874 PARWAY TRYSON 10%	492874	PARWAY IRYSON		
				minimu
492906 ROBBINS SALES COMPANY, INC. YES net 30	492906	ROBBINS SALES COMPANY. INC.		net 30
492916 *SCHREIBER FOODS INTERNATIONAL INC Yes no	492916	*SCHREIBER FOODS INTERNATIONAL INC		
492912 SUGAR FOODS CORPORATION No N/A				
492868 SUNNY SKY PRODUCTS LLC Yes N/A	492868	SUNNY SKY PRODUCTS LLC		
492846 SYSCO USA INCORPORATED DBA SYSCO no 10%	492846	SYSCO USA INCORPORATED DBA SYSCO		
492903 THE MASTERS DISTRIBUTION SYSTEMS Yes 10%	492903	THE MASTERS DISTRIBUTION SYSTEMS		10%
492887 *THE VALDEZ CORPORATION yes 0	492887	*THE VALDEZ CORPORATION		0
492888 *TROPICAL PARADISE INC DBA COOL Yes no				
492905 TYSON PREPARED FOODS INC Tyson Minimu	492905	TYSON PREPARED FOODS INC	Tyson	Minimu

9PS - Failed to Provide Product Sample 3TQ - Taste Quality of Product Unacceptable 1NL - Not low when unit price is calculated 4NS - Not to specifications 3PP - Poor Product Performanc

*Confidentia

					*Confidential			
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	APPLE SAUCE, CHUNKY, FANCY, LOW SUGAR OR UNSWEETENED, 6/#10 CANS	Υ		cs	ROBBINS SALES COMPANY, INC.	900	\$17.24	\$15,516.00
				cs	BYRNE BROTHERS FOODS, INC.	900	\$17.94	\$16,146.00
				- 00	BINNE BROTILERS I GODO, INC.	300	\$17.54	\$10,140.00
				cs	JNS FOODS INC	900	\$18.72	\$16,848.00
	BARBECUE SAUCE, HICKORY SMOKED, LOW							
2	SODIUM, 4/1 GAL.	N	9PS	cs	BYRNE BROTHERS FOODS, INC.	200	\$17.98	\$3,596.00
		Υ		cs	*BRAUN BEEF CO INC	200		
		Y		U3	BRAUN BEEF CO INC	200		
				cs	KENS FOODS INC	200	\$32.09	\$6,418.00
	BEANS, BAKED, VEGETARIAN, GRADE A, PREFER NO MORE THAN 350mg SODIUM PER							
3	SERVING, 6/#10 CANS	N	3TQ	CS	BYRNE BROTHERS FOODS, INC.	800	\$19.28	\$15,424.00

Y CS *BUSH BROTHERS & COMPANY	800		
TO SO SOUL BROWNERS OF SOUL BROWNERS OF SOUL BROWNERS OF SOUL BROWNERS OF SOUR BROWNERS OF	000		
CS *MCLANE EXPRESS INCORPORATE	ED 800		
CS JNS FOODS INC	800	\$29.94	\$23,952.00
BEANS, BLACK, WHOLE BEANS, PREFER NO MORE THAN 200mg SODIUM PER SERVING,			
4 6/#10 CANS N 9PS CS JNS FOODS INC	800	\$18.90	\$15,120.00
N 3TQ CS BYRNE BROTHERS FOODS, INC.	800	\$18.98	\$15,184.00
N 3TQ CS *MCLANE EXPRESS INCORPORATE	ED 800		
Y CS *BUSH BROTHERS & COMPANY	800		
	555		
CS *CHURCHFIELD TRADING CO.	800		
CS NATIONAL FOOD GROUP INC	800	\$20.75	\$16,600.00
CS CONAGRA FOODS INCORPORATED	D 800	\$23.62	\$18,896.00
CS *CHURCHFIELD TRADING COALT	800	\$24.80	
SS SHOKEHINEED HADING SS. AET	330	ψ24.00	
BEANS, PINTO, GRADE A, PREFER NO MORE THAN 400mg SODIUM PER SERVING, 6/#10			
5 CANS N 3TQ CS BYRNE BROTHERS FOODS, INC.	800	\$16.98	\$13,584.00
N 9PS CS JNS FOODS INC	800	\$18.49	\$14,792.00
N 3TQ CS *MCLANE EXPRESS INCORPORATE	ED 800		
Y CS *BUSH BROTHERS & COMPANY	800	\$19.42	
OS BOST BROTTLENS & COME ANT	800	\$13.42	
CS NATIONAL FOOD GROUP INC	800	\$19.75	\$15,800.00
CS *CHURCHFIELD TRADING CO.	800		
CS *CHURCHFIELD TRADING COALT	800		
CS CONAGRA FOODS INCORPORATED	D 800	\$26.50	\$21,200.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
6	BEANS, REFRIED, SMOOTH WITH WHOLE BEANS, VEGETARIAN, LOW SODIUM, NOT TO CONTAIN MORE THAN 200mg PER 1/2 CUP SERVING	Y		cs	BASIC AMERICAN INC DBA BASIC AMERICAN FOODS	1200	\$17.75	\$21,300.00
				CS	JNS FOODS INC	1200	\$20.98	\$25,176.00
				cs	*MCLANE EXPRESS INCORPORATED	1200		
				cs	CONAGRA FOODS INCORPORATED	1200	\$29.09	\$34,908.00
7	BREAKFAST BREAKS, TRIX CEREAL OR CERIAL BAR, REDUCED SUGAR, 51% WHOLE GRAIN	N	9PS	cs	BYRNE BROTHERS FOODS, INC.	250	\$29.75	\$7,437.5 <u>0</u>
		N	1NL	cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	250		
			INC	- 55	OMELEO ELO GETMI AR ROTABLEO	230		
		N	1NL	cs	THE MASTERS DISTRIBUTION SYSTEMS	250	\$35.64	\$8,910.00
		N	1NL	cs	*BRAUN BEEF CO INC	250		
		Y		cs	*ES FOODS	250		
8	BREAKFAST BREAKS, CINNAMON TOAST CRUNCH CEREAL OR CEREAL BAR, 51% WHOLE GRAIN	N	9PS	cs	BYRNE BROTHERS FOODS, INC.	250	\$29.75	\$7,437.50
		N	1NL	cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	250		
		,,	2146	30	THE TEST OF THE ARTIST AND TABLES	200		
		N	1NL	cs	*BRAUN BEEF CO INC	250		
		Υ		cs	*ES FOODS	250		
	BUTTER FLAVORED GRANULES, SAUCE MIX, MIXED WITH WATER TO FORM SAUCE, FAT FREE, CHOLESTEROL FREE, TRANS-FAT FREE, NO MORE THAN 85mg SODIUM PER 1							
9	tsp SÉRVING, NO ARTIFICAL INGREDIENTS, PACKED IN 48/2oz PKGS, BUTTER BUDS #20001 OR SIMILAR	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	\$30.88	\$6,176.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	SYSCO USA INCORPORATED DBA SYSCO	200	\$31.18	\$6,236.00
							•	,,,
10	CANNED JUICE SPARKLING, APPLE OR SIMILAR FLAVORS, 100% JUICE, 24/12oz CANS	N	зто	cs	GOLDEN VALLEY MANAGEMENT DBA ENVY FOODS	1000	\$10.15	\$10,150.00
		N	4NS	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	\$10.18	\$10,180.00
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$11.99	\$11,990.00
11	CANNED JUICE SPARKLING, FRUIT PUNCH OR SIMILAR, 100% JUICE, 24/12oz CANS	N	зто	cs	GOLDEN VALLEY MANAGEMENT DBA ENVY FOODS	1500	\$10.15	\$15,225.00
		N	4NS	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.18	\$15,270.00
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	1500		
42	CANNED JUICE SPARKLING, BERRY OR				GOLDEN VALLEY MANAGEMENT DBA		\$40.4F	£40.450.00
12	GRAPE FLAVOR, 100% JUICE, 24/12oz CANS	N	зто		*ADVANCE SALES & MARKETING INCORPORATED	1000	\$10.15	\$10,150.00
		Y		cs	*MCLANE EXPRESS INCORPORATED	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$11.99	\$11,990.00
13	CANNED JUICE SPARKLING, STRAWBERRY KIWI OR SIMILAR FLAVORS, 100% JUICE, 24/12oz CANS	N	зто	cs	GOLDEN VALLEY MANAGEMENT DBA ENVY FOODS	1500	\$10.15	\$15,225.00
		N	4NS	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.18	\$15,270.00
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
Lillen	item bescription	(1714)	Reason	OOW	Supplier	Qty	riice	riice
	CANNED JUICE SPARKLING, LEMON OR				*ADVANCE SALES & MARKETING			
14	CITRUS FLAVOR, 100% JUICE 24/12oz CANS	Υ		CS	INCORPORATED	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$11.99	\$11,990.00
	CANNED JUICE SPARKLING, ORANGE OR				GOLDEN VALLEY MANAGEMENT DBA			
15	SIMILAR FLAVORS, 100% JUICE, 24/12oz CANS	N	3TQ	cs	ENVY FOODS	800	\$10.15	\$8,120.00
					SYSCO USA INCORPORATED DBA SYSCO			
		N	4NS	cs	NORTH TEXAS	800	\$10.18	\$8,144.00
					*ADVANCE SALES & MARKETING			
		Υ		cs	INCORPORATED	800		
				CS	*MCLANE EXPRESS INCORPORATED	800		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	800	\$11.99	\$9,592.00
	CANNED JUICE SPARKLING, CHERRY,							
16	POMAGRANATE OR SIMILAR FLAVOR, 100% JUICE, 24/12oz CANS	Υ		Ce	*ADVANCE SALES & MARKETING INCORPORATED	1000		
10	JUICE, 24/1202 CANS	I		CS	INCORFORATED	1000		
				00	*MCI ANE EXPRESS INCORPORATED	4000		
				CS	*MCLANE EXPRESS INCORPORATED	1000		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$11.99	\$11,990.00
	CEREAL, SWEETENED, CHOCOLATE COCOA FLAVOR, BOWL PACK, 96 CT, 25% LESS							
	SUGAR PREFERRED, NO MORE THAN 8							
17	GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN CORN	Υ		cs	*BRAUN BEEF CO INC	2000		
				cs	*MCLANE EXPRESS INCORPORATED	2000		
	•		•					

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	CEREAL, SWEETENED, CINNAMON TOAST							
	FLAVOR, BOWL PACK, 96 CT, 25% LESS SUGAR PREFERRED, NO MORE THAN 6							
18	GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT	Y		cs	*BRAUN BEEF CO INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
	CEREAL, SWEETENED, FROSTED FLAKES							
19	FLAVOR, BOWL PACK, NO MORE THAN 8 GRAMS SUGAR PER BOWL, PRIMARY INGREDIENT MUST BE WHOLE GRAIN CORN	Y		cs	*BRAUN BEEF CO INC	1200		
				cs	*MCLANE EXPRESS INCORPORATED	1200		
	CEREAL, SWEETENED, FRUIT FLAVOR RINGS, BOWL PACK, PRIMARY INGREDIENT MUST BE							
20	WHOLE GRAIN OATS, GLUTEN FREE, NO ARTIFICIAL FLAVORS OR COLORS	Y		cs	*BRAUN BEEF CO INC	1200		
				cs	*MCLANE EXPRESS INCORPORATED	1200		
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1200	\$23.20	\$27,840.00
	OFFICE CONTENTS OF THE CONTENT							
	CEREAL, SWEETENED, HONEY & NUT FLAVOR, BOWL PACK, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE							
21	WHOLE GRAIN OATS, GLUTEN FREE, NO ARTIFICIAL FLAVORS OR COLORS	Y		cs	*BRAUN BEEF CO INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	CEREAL, SWEETENED, HONEY GRAHAM							
	FLAVOR, BOWL PACK, LOW SUGAR PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN WHEAT, NO ARTIFICIAL							
22	FLAVORS OR COLORS, NO HIGH FRUCTOSE CORN SYRUP	Y		cs	*BRAUN BEEF CO INC	1500		
				cs	*MCLANE EXPRESS INCORPORATED	1500		
	CEREAL, SWEETENED, MARSHMALLOW FLAVOR, BOWL PACK, 96 CT, LOW SUGAR							
23	PREFERED, PRIMARY INGREDIENT MUST BE WHOLE GRAIN OATS, GLUTEN FREE	Y		cs	*BRAUN BEEF CO INC	1000		
				cs	*MCLANE EXPRESS INCORPORATED	1000		
	CHICKPEAS, ROASTED AND SEASONED,				GOOD SOURCE SOLUTIONS DBA TOOLS			
24	INDIVIDUALLY WRAPPED, 125/1.5 OZ/CASE	Y		cs	FOR SCHOOLS	500	\$56.95	\$28,475.00
	(CPT) CHEESE, PARMESAN, GRATED, 5 LB							
25	BAG, MUST BE SHELF STABLE, DOES NOT REQUIRE REFRIGERATION	Y		cs	BYRNE BROTHERS FOODS, INC.	200	\$81.18	\$16,236.00
	COFFEE, REGULAR GRIND, 8/3LB OR 8/39 OZ							
26	VACUUM CANS/CASE	Y		CS	BYRNE BROTHERS FOODS, INC.	100	\$64.00	\$6,400.00
	STUFFING MIX, MADE WITH A BLEND OF CORNBREAD AND OTHER SPECIALTY							
	BREADS, 51% WHOLE GRAIN, LARGE AND VARIED CUTS OF BREAD COMBINED WITH CLELERY, ONION, HERBS, AND SEASONINGS,							
27	PREPARED WITH HOT WATER ONLY, NO TRANS FATS, 6/32OZ	N	4NS	cs	*MCLANE EXPRESS INCORPORATED	500		
		N	4NS	cs	SUGAR FOODS CORPORATION	500	\$50.51	\$25,255.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Υ		cs	KENT PRECISION FOODS INCORPORATED	500	\$63.37	\$31,685.00
								. ,
	CRACKERS, SALTINE, 51% WHOLE GRAIN,							
	INDIVIUALLY WRAPPED, ORDERED IN QUANTITIES OF APPROXIMATELY 150 CASES							
28	EVERY 2 WEEKS	N	3PP	CS	*BRAUN BEEF CO INC	1000		
		N	1NL	cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$17.70	\$17,700.00
		Υ		Ce	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	\$22.62	\$22,620.00
				<u> </u>	MONTH PLANO	1000	₩ZZZ-10/Z	\$242,020.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	\$26.78	\$26,780.00
	CRANDEDDIES DRIED SWEETENED							
	CRANBERRIES, DRIED, SWEETENED, INDIVIUAL PACKAGES, STRAWBERRY							
29	FLAVOR, 2.5 OZ, FAT FREE, NO ARTIFICIAL FLAVORS OR PRESERVATIVES	Υ		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	750	\$41.54	\$31,155.00
				cs	BYRNE BROTHERS FOODS, INC.	750	\$42.00	\$31,500.00
30	CRANBERRY SAUCE, JELLIED, 6/#10 CANS	Υ		cs	BYRNE BROTHERS FOODS, INC.	150	\$39.38	\$5,907.00
31	CROUTONS, LIGHTLY SEASONED, 51% WHOLE GRAIN, LARGE CUT	Y		cs	SUGAR FOODS CORPORATION	100	\$20.01	\$2,001.00
	,							, ,
				cs	BYRNE BROTHERS FOODS, INC.	100	\$24.00	\$2,400.00
32	(CPT) DRESSING, CEASAR, P.C., 1 0Z, 100/CS	N	9PS	CS	JNS FOODS INC	50	\$8.53	\$426.50
					VENO 50000 INC		0.40	
		Υ		cs	KENS FOODS INC	50	\$12.28	\$614.00
				cs	BYRNE BROTHERS FOODS, INC.	50	\$15.50	\$775.00
	DRESSING, ITALIAN, P.C. 12 GRAM, MUST BE			-			411	
33	SHELF STABLE, 200/CS	Y		CS	BYRNE BROTHERS FOODS, INC.	200	\$10.28	\$2,056.00
				cs	JNS FOODS INC	200	\$11.95	\$2,390.00
								+=,000.30
	DRESSING, ITALIAN, P.C., 1 OZ, MUST BE							
34	SHELF STABLE, 100/CS	Υ		CS	KENS FOODS INC	100	\$9.65	\$965.00

					T			
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	JNS FOODS INC	100	\$12.90	\$1,290.00
							V.2.00	V 1,200.00
				cs	BYRNE BROTHERS FOODS, INC.	100	\$16.58	\$1,658.00
	DRESSING, RANCH, P.C., 12 GRAM, MUST BE							
35	SHELF STABLE, 200/CS	N	9PS	cs	JNS FOODS INC	800	\$6.99	\$5,592.00
		N	9PS	cs	BYRNE BROTHERS FOODS, INC.	800	\$7.48	\$5,984.00
		Υ		cs	*MCLANE EXPRESS INCORPORATED	800		
	DRESSING, RANCH, P.C., 1 OZ, MUST BE			00		T 00		
36	SHELF STABLE, 100/CS	Y		CS	*MCLANE EXPRESS INCORPORATED	500		
				cs	KENS FOODS INC	500	\$9.91	\$4,955.00
				66	DVDNE BROTHERS FOODS INC	500	644.00	¢ E 000 00
				CS	BYRNE BROTHERS FOODS, INC.	500	\$11.80	\$5,900.00
				cs	JNS FOODS INC	500	\$13.00	\$6,500.00
	FLOUR, ENRICHED, ALL PURPOSE, 5 OR 10 LB							
37	BAGS PREFERRED	Υ		cs	BYRNE BROTHERS FOODS, INC.	400	\$6.98	\$2,792.00
	FLOUR, WHOLE WHEAT, WHOLE WHITE							
38	WHEAT FLOUR PREFERRED, 5 OR 10# BAGS	Y		BG	*MCLANE EXPRESS INCORPORATED	400		
39	FOOD COLORING, GREEN, QT PACK	Υ		EA	BYRNE BROTHERS FOODS, INC.	50	\$7.98	\$399.00
	TOOD GOLORING, CREEK, GIT AGK				STATE SACTIVERS 1 0000, INC.		\$1.50	+ + + + + + + + + + + + + + + + + + +
	FRUIT COCKTAIL, EXTRA-LIGHT SYRUP OR							
40	PACKED IN JUICE, FANCY, 6/#10 CANS	Υ		CS	BYRNE BROTHERS FOODS, INC.	2000	\$25.48	\$50,960.00
				cs	ROBBINS SALES COMPANY, INC.	2000	\$25.88	\$51,760.00
				30	TOP SALES SOME ANT, INC.	2000	Ψ <u>2</u> 0.00	\$51,700.00
				cs	JNS FOODS INC	2000	\$26.62	\$53,240.00
				cs	*SCHREIBER FOODS INTERNATIONAL INC	2000		
				cs	*MCLANE EXPRESS INCORPORATED	2000		
	FRUIT CUPS, INDIVIDUALLY PACKAGED,							
41	SHELF STABLE, 4.5 OZ (1/2 CUP), JUICE PACKED, FANCY, 96/CS OR SIMILAR	N	1NL	cs	BYRNE BROTHERS FOODS, INC.	500	\$17.88	\$8,940.00
	The solution of the second of		2116	- 55		300	Ţ.7.00	\$5,0-10.00
		N	9PS	cs	JNS FOODS INC	500	\$21.00	\$10,500.00

		Award						Extended
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Price
		Υ		CS	*MCLANE EXPRESS INCORPORATED	500		
				cs	NATIONAL FOOD CROUPING	500	¢22.42	\$16 E60 00
				US.	NATIONAL FOOD GROUP INC	500	\$33.12	\$16,560.00
				cs	NU HEALTH CALIFORNIA LLC	500	\$35.00	\$17,500.00
	CRANOLA BULK CLUTEN EDEE NO WHEAT	N.						
42	GRANOLA, BULK, GLUTEN FREE, NO WHEAT INGREDIENTS, NO SOY PREFERRED	No Award		cs	*MCLANE EXPRESS INCORPORATED	500		
		No						
		Award		cs	BYRNE BROTHERS FOODS, INC.	500	\$66.75	\$33,375.00
	GRANOLA, INDIVIDUALLY PACKAGED, 51%							
	WHOLE GRAIN, LOW FAT, GLUTEN FREE, NO WHEAT INGREDIENTS, PLAIN AND FLAVOR							
43	VARIETIES	Υ		cs	*ES FOODS	800		
				cs	*MCLANE EXPRESS INCORPORATED	800		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	800	\$67.50	\$54,000.00
				cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	800		
				cs	*BRAUN BEEF CO INC	800		
44	GRAPE JELLY, P.C., 1.5 OZ, SHELF STABLE	N	9PS	CS	BYRNE BROTHERS FOODS, INC.	2500	\$6.68	\$16,700.00
		Υ		CS	*MCLANE EXPRESS INCORPORATED	2500		
				-	ING ECODS INC	2500	67.40	¢47.750.00
				CS	JNS FOODS INC	2500	\$7.10	\$17,750.00
					*ADVANCE SALES & MARKETING			
				CS	INCORPORATED	2500		
	GRAVY MIX, COUNTRY STYLE, NO TRANS FAT, NO MORE THAN 250 MG SODIUM, ADD WATER				*C H GUENTHER & SON INC DBA PIONEER			
45	ONLY, 6/24 OZ.	Υ		CS	FLOUR MILLS	1000		
				CS	CUSTOM CULINARY INCORPORATED	1000	\$16.71	\$16,710.00
				رو	BYRNE BROTHERS FOODS, INC.	1000	\$19.05	\$19,050.00
		<u> </u>	l	LO	DIRINE DIROTHERS FOODS, INC.	1000	φ13.U3	φισ,υσυ.υυ

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				cs	KENT PRECISION FOODS INCORPORATED	1000	\$30.98	\$30,980.00
				cs	*ADVANCE SALES & MARKETING INCORPORATED	1000		
46	HONEY, 100% PURE, US GRADE A, PACKED 4/1 GAL. OR 8 1/2 GAL.	Υ		cs	BYRNE BROTHERS FOODS, INC.	300	\$88.00	\$26,400.00
	S							V 20, 100.00
	DIDDEDS REAN AND VOCUDE FIRSTA CHILL							
47	DIPPERS, BEAN AND YOGURT, FIESTA CHILI LIME, 1.75 OZ SERVING, 120 CUPS/CS	Y		cs	*CHURCHFIELD TRADING CO.	200		
	JALAPENO PEPPERS, NACHO SLICED,							
48	DOMESTIC PACK IN WATER OR NATURAL JUICE, 6/#10 CANS	Y		cs	BYRNE BROTHERS FOODS, INC.	300	\$20.08	\$6,024.00
				cs	*BRAUN BEEF CO INC	300		
				CS	*CHURCHFIELD TRADING CO.	300		
				cs	CONAGRA FOODS INCORPORATED	300	\$41.45	\$12,435.00
				03	CONAGRATOODS INCORPORATED	300	\$41.45	\$12,433.00
	JUICE, APPLE, 100% JUICE, SHELF STABLE,							
49	4.23 OZ. 44/CS.	Y		CS	HARVEST HILL BEVERAGE COMPANY	500	\$5.99	\$2,995.00
					*ADVANCE SALES & MARKETING			
				CS	INCORPORATED	500		
					SYSCO USA INCORPORATED DBA SYSCO			
				CS	NORTH TEXAS	500	\$7.01	\$3,505.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$7.87	\$3,935.00
				55	THE MACIENO DIGINIDATION STOTEMS	550	Ψ1.01	ψυ,συσ.00
50	JUICE, ORANGE OR SIMILAR, 100% JUICE, SHELF STABLE, 4.23 OZ. 44/CS.	Y		cs	HARVEST HILL BEVERAGE COMPANY	500	\$5.99	\$2,995.00
				cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	500	\$7.01	\$3,505.00
				30	THE STATE OF THE S	- 550	ψ1.01	ψυ,συσ.συ
				cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$7.87	\$3,935.00
	JUICE, MIXED FRUIT, 100% JUICE, CLEAR OR							
51	LIGHT COLOR JUICE PREFERRED, SHELF STABLE, 4.23 OZ. 44/CS.	Υ		cs	HARVEST HILL BEVERAGE COMPANY	500	\$5.99	\$2,995.00

		Award						Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
				cs	SYSCO USA INCORPORATED DBA SYSCO	500	¢7.04	\$2 E0E 00
				CS	NORTH TEXAS	500	\$7.01	\$3,505.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$7.87	\$3,935.00
							Ų I I C	40,000.00
	JUICE, VEGETABLE AND FRUIT BLEND, 100%							
52	JUICE, SHELF STABLE BOXES WITH ATTACHED STRAW, 4.23 OZ, 70/CS.	Υ		cs	HARVEST HILL BEVERAGE COMPANY	500	\$7.10	\$3,550.00
32	ATTACHED STRAW, 4.23 02, 70/03.	I		CS	HARVEST HILL BEVERAGE COMPANT	500	\$7.10	\$3,330.00
					*ADVANCE SALES & MARKETING			
				CS	INCORPORATED	500		
	JUICE, VEGETABLE AND FRUIT BLEND, 100% JUICE, SHELF STABLE BOXES WITH				SYSCO USA INCORPORATED DBA SYSCO			
53	ATTACHED STRAW, 6.75 OZ, 70/CS.	Υ		cs	NORTH TEXAS	500	\$9.15	\$4,575.00
				cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
	MANDARIN ORANGES, WHOLE SEGMENTS, EXTRA LIGHT SYRUP OR NATURAL JUICE							
54	PACK, 6/#10 CANS	N	3TQ	cs	ROBBINS SALES COMPANY, INC.	5000	\$19.64	\$98,200.00
		N	зто	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	5000	\$20.02	\$100,100.00
		IN	310	- 03	NORTH TEXAS	3000	\$20.02	\$100,100.00
		Υ		cs	*CHURCHFIELD TRADING CO.	5000		
				cs	BYRNE BROTHERS FOODS, INC.	5000	\$23.46	\$117,300.00
				CS	*SCHREIBER FOODS INTERNATIONAL INC	5000		
					INC ECODS INC	E000	605.00	\$42E 000 00
				CS	JNS FOODS INC	5000	ֆ∠5.00	\$125,000.00
55	MANDARIN ORANGE CUPS, PACKED IN JUICE, 4.5 OZ, 72/CS	Υ		CS	NATIONAL FOOD GROUP INC	750	\$28.75	\$21,562.50
33	-13 OZ, 12/03			CO	NATIONAL FOOD GROOF INC	730	φ 2 0.73	Ψ 21,302.30
					GOOD SOURCE SOLUTIONS DBA TOOLS			
		-		cs	FOR SCHOOLS	750	\$33.19	\$24,892.50
				CS	NU HEALTH CALIFORNIA LLC	750	\$35.00	\$26,250.00
56	CHERRIES, MARASCHINO HALVES, 6/ 1/2 GAL JARS/CS	Υ		CN	BYRNE BROTHERS FOODS, INC.	200	\$45.00	\$9,000.00

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
57	MAYONNAISE, LIGHT, P.C., 12 GR, ORDERED IN SMALLER QUANTITIES, 75 CS PER ORDER	N	9PS	cs	JNS FOODS INC	800	\$7.75	\$6,200.00
		Υ		CS	*MCLANE EXPRESS INCORPORATED	800		
				cs	BYRNE BROTHERS FOODS, INC.	800	\$11.58	\$9,264.00
								,,,
58	MAYONNAISE, LIGHT, 4/1 GAL	Υ		CS	*BRAUN BEEF CO INC	400		
				CC	VENE FOODS INC	400	\$22.00	¢0.460.00
				CS	KENS FOODS INC	400	\$22.90	\$9,160.00
				cs	JNS FOODS INC	400	\$26.30	\$10,520.00
				CS	BYRNE BROTHERS FOODS, INC.	400	\$27.78	\$11,112.00
	MEAL BREAKS, CHICKEN SALAD, PRE-							
59	PACKAGED MEALS FOR LUNCH, SHELF STABLE	Υ		cs	*ES FOODS	500		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	500	\$62.70	\$31,350.00
	MEAL BREAKS, CHEESE SPREAD CUP WITH							
60	VEGGIE JUICE, PRE-PACKAGED MEALS FOR LUNCH, SHELF STABLE	Υ		cs	*ES FOODS	800		
				cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	800		
				cs	*BRAUN BEEF CO INC	800		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	800	\$62.70	\$50,160.00
	MEAL BREAKS, CHEESE AND BEEF STICKS,							
61	PRE-PACKAGED MEALS FOR SUPPER, SHELF STABLE	Υ		cs	*ES FOODS	800		
				cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	800		
				cs	*BRAUN BEEF CO INC	800		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	800	\$62.70	\$50,160.00
	+	•——						,

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	MEAL BREAKS, CHIPS & DIPS, PRE- PACKAGED MEALS FOR SUPPER, SHELF							
62	STABLE	Y		CS	*ES FOODS	800		
				cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	800		
				cs	*BRAUN BEEF CO INC	800		
				- 00	BRACK BEEF GO INC	- 000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	800	\$62.70	\$50,160.00
63	MEAL BREAKS, BEAN DIP CUP, PRE- PACKAGED MEALS FOR SUPPER, SHELF STABLE	Y		cs	*ES FOODS	500		
				cs	*MINMOR INDUSTRIES LLC DBA MELLO SMELLO LLC OLYMPAK NOTABLES	500		
				cs	*BRAUN BEEF CO INC	500		
				- 00	BRACK BEEF GO INC	300		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	500	\$62.70	\$31,350.00
64	MIX, TURKEY GRAVY, ADD WATER ONLY, NO TRANS-FATS	Y		cs	*C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	200		
				cs	BYRNE BROTHERS FOODS, INC.	200	\$21.15	\$4,230.00
				cs	KENT PRECISION FOODS INCORPORATED	200	\$23.64	\$4,728.00
				cs	*ADVANCE SALES & MARKETING INCORPORATED	200		
				CS	CUSTOM CULINARY INCORPORATED	200	\$27.90	\$5,580.00
65	MUFFIN OR QUICK BREAD MIX, 51% WHOLE GRAIN, JUST ADD WATER, VARIETY USE	Y		cs	*C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	500		
				cs	BYRNE BROTHERS FOODS, INC.	500	\$38.15	\$19,075.00
	MUSTARD, INDIVIDUAL P.C., FANCY, 4.5 GRAM,			-	., .	-		,
66	500/CS	N	9PS	cs	JNS FOODS INC	500	\$5.73	\$2,865.00
		N	9PS	cs	BYRNE BROTHERS FOODS, INC.	500	\$6.90	\$3,450.00
		Y		cs	*MCLANE EXPRESS INCORPORATED	500		

1:	Now Possintian	Award	Danasa	ном	Complian	Otto	Deine	Extended
Line#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
67	CREAMER, NON-DAIRY, P.C.	Υ		cs	BYRNE BROTHERS FOODS, INC.	75	\$24.00	\$1,800.00
	OATMEAL BARS, STRAWBERRY, 51% WHOLE GRAIN, INDIVIDUALLY PACKAGED, SOFT,				SYSCO USA INCORPORATED DBA SYSCO			
68	DARLINGTON APPLEWAYS OR EQUAL	N	3TQ	CS	NORTH TEXAS	750	\$37.17	\$27,877.50
		N	зто	cs	*BRAUN BEEF CO INC	750		
			3.0	- 55	DIVION BEEF OF INC	700		
		N	3TQ	cs	*MCLANE EXPRESS INCORPORATED	750		
		Υ		CS	*CHURCHFIELD TRADING CO.	750		
				CS	BYRNE BROTHERS FOODS, INC.	750	\$46.90	\$35,175.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	750	\$50.80	\$38,100.00
							, and	, , , , , , , , , , , , , , , , , , ,
69	(CPT) OLIVE OIL BLEND, 6/1 GAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	\$52.00	\$2,600.00
70	PAN RELEASE, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR INORGANIC COMPOUNDS, ZERO CALORIES PER SPRAY, NO CFC'S OR ADDED TRANS-FATS, 6/14 OZ/CS	z	4NS	cø	CONAGRA FOODS INCORPORATED	800	\$11.97	\$9,576.00
		N	9PS	CS	BYRNE BROTHERS FOODS, INC.	800	\$17.20	\$13,760.00
		Y		cs	PARWAY TRYSON	800	\$17.25	\$13,800.00
				CS	*BRAUN BEEF CO INC	800		
71	(CPT) PASTA, ROTINI, 51% WHOLE GRAIN, 2/160 OZ BAGS/CS	Y		cs	BARILLA AMERICA INC	300	\$14.65	\$4,395.00
				cs	BYRNE BROTHERS FOODS, INC.	300	\$15.70	\$4,710.00
				cs	*MCLANE EXPRESS INCORPORATED	300		
				cs	*BRAUN BEEF CO INC	300		
72	(CPT) PASTA, PENNE, 51% WHOLE GRAIN, 1 1/2" IN SIZE, 2/160 OZ BAGS/CS	Υ		cs	BARILLA AMERICA INC	500	\$14.65	\$7,325.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	BYRNE BROTHERS FOODS, INC.	500	\$15.70	\$7,850.00
				cs	*MCLANE EXPRESS INCORPORATED	500		
				cs	*BRAUN BEEF CO INC	500		
73	SPAGHETTI, 51% WHOLE GRAIN, 2/160 OZ BAGS/CS	Y		cs	BARILLA AMERICA INC	1000	\$14.65	\$14,650.00
				cs	BYRNE BROTHERS FOODS, INC.	1000	\$15.70	\$15,700.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				cs	*BRAUN BEEF CO INC	1000		
	DEACUES SLICED EVERA LIGHT OVERLEAD							
74	PEACHES, SLICED, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE B, 6/#10 CANS/CS	N	зто	cs	ROBBINS SALES COMPANY, INC.	5000	\$24.56	\$122,800.00
		N	зто	cs	*SCHREIBER FOODS INTERNATIONAL INC	5000		
		Y	31Q			5000	¢27.40	\$127,400,00
		Y			BYRNE BROTHERS FOODS, INC.			\$137,400.00
				CS	JNS FOODS INC	5000	\$29.25	\$146,250.00
				CS	*MCLANE EXPRESS INCORPORATED	5000		
				CS	*CHURCHFIELD TRADING COALT	5000		
					*CHURCHFIELD TRADING CO.	5000		
				CS	NU HEALTH CALIFORNIA LLC	5000	\$35.00	\$175,000.00
	PEARS, DICED, BARTLETT, GRADE B, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, 6#10/CS	RI .	270	cs	BYDNE BROTHERS FOODS INC	2000	\$19.98	\$39,960.00
75	WHO/CS	N	зто	US	BYRNE BROTHERS FOODS, INC.	2000	ψ13.3 <u>0</u>	439,900.00
		N	зто	cs	*SCHREIBER FOODS INTERNATIONAL INC	2000		
		N	ЗTQ	cs	JNS FOODS INC	2000	\$20.75	\$41,500.00
		N	зто	cs	ROBBINS SALES COMPANY, INC.	2000	\$21.64	\$43,280.00
		Υ		cs	*CHURCHFIELD TRADING CO.	2000		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	NU HEALTH CALIFORNIA LLC	2000	\$35.00	\$70,000.00
	PEAS, BLACKEYED, DRY PEAS REHYDRATED					4000	440.00	*** *** ***
76	AND CANNED, FANCY, 6/#10 CANS/CS	N	зто	CS	BYRNE BROTHERS FOODS, INC.	1000	\$19.38	\$19,380.00
		Υ		cs	*BUSH BROTHERS & COMPANY	1000		
				cs	JNS FOODS INC	1000	\$22.00	\$22,000.00
				CS	*MCLANE EXPRESS INCORPORATED	1000		
				cs	*CHURCHFIELD TRADING CO.	1000		
						1000		
	DIOKI FO DILL OLIOFO HAMBURGER GUID							
	PICKLES, DILL, SLICED HAMBURGER CHIP STYLE, NO MORE THAN 300mg SODIUM PER 1							•
77	OZ SERVING, 4/1 GAL/CS	N	9PS	CS	JNS FOODS INC	800	\$17.00	\$13,600.00
		Υ		cs	BYRNE BROTHERS FOODS, INC.	800	\$17.92	\$14,336.00
	DINEADD E TIDDITS EVEDA LIGHT SYRUD OD							
70	PINEAPPLE TIDBITS, EXTRA LIGHT SYRUP OR NATURAL JUICE PACK, GRADE A, PRODUCT			-	DODDING ON TO COMPANY INC	0500	***	* 57.000.00
78	OF USA PREFERRED, 6/#10 CANS/CS	Υ		CS	ROBBINS SALES COMPANY, INC.	2500	\$22.88	\$57,200.00
				cs	*CHURCHFIELD TRADING CO.	2500		
				cs	BYRNE BROTHERS FOODS, INC.	2500	\$24.96	\$62,400.00
-				cs	*SCHREIBER FOODS INTERNATIONAL INC	2500		
					ING FOODS ING	0=0=	***	****
				CS	JNS FOODS INC	2500	\$25.95	\$64,875.00
				cs	*CHURCHFIELD TRADING COALT	2500		
				cs	NU HEALTH CALIFORNIA LLC	2500	\$35.00	\$87,500.00
	POTATOES, INSTANT, PREMIUM PEARLS, NO							
	TRANS FATS, VEGETARIAN, GLUTEN FREE, NO MORE THAN 350mg OF SODIUM PER				SYSCO USA INCORPORATED DBA SYSCO			
79	SERVING, 10/29.3 OZ POUCHES/CS	N	4NS	cs	NORTH TEXAS	3000	\$30.38	\$91,140.00
			ar-		*OUUDOUSISI D TDAS****	0000		
		N	9PS	CS	*CHURCHFIELD TRADING CO.	3000		

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
		N	3TQ	CS	J R SIMPLOT COMPANY	3000	\$36.04	\$108,120.00
					BASIC AMERICAN INC DBA BASIC		400.40	****
		Υ		CS	AMERICAN FOODS	3000	\$38.16	\$114,480.00
					*ADVANCE SALES & MARKETING			
				cs	INCORPORATED	3000		
80	PUDDING CUP, CHOCOLATE, INDIVIDUALLY PACKAGED	Υ		cs	CONAGRA FOODS INCORPORATED	500	\$12.56	\$6,280.00
								, , , , , , , , , , , , , , , , , , , ,
				cs	ADVANTAGE WAYPOINT LLC	500	\$16.45	\$8,225.00
24	PUDDING CUP, VANILLA, INDIVIDUALLY						A10 F0	** *** **
81	PACKAGED	Υ		cs	CONAGRA FOODS INCORPORATED	500	\$12.56	\$6,280.00
				CS	ADVANTAGE WAYPOINT LLC	500	\$16.45	\$8,225.00
				00	ADVANTAGE WATT GIRT EEG	300	ψ10.43	ψ0,223.00
	RAISINS, GOLDEN, SOUR STRAWBERRY, NO							
82	ADDED SUGAR OR ARTIFICIAL FLAVORS, 1.33 OZ BOX, 144/CS	Υ		cs	*MCLANE EXPRESS INCORPORATED	1000		
02	02 BOX, 14-4-00	'		00	MOLANE EXINESS INSCRICTATED	1000		
				cs	BYRNE BROTHERS FOODS, INC.	1000	\$41.76	\$41,760.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$42.60	\$42,600.00
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1000	\$57.00	\$57,000.00
				30		1000	ψ01.00	\$01,000.00
					SYSCO USA INCORPORATED DBA SYSCO			
				CS	NORTH TEXAS	1000	\$64.88	\$64,880.00
83	RAISINS, INDIVIDUAL, 1.33 OZ BOX, 144/CS OR SIMILAR	N	зто	cs	*CHURCHFIELD TRADING CO.	1500		
		Υ		cs	NATIONAL FOOD GROUP INC	1500	\$25.77	\$38,655.00
		1		cs	BYRNE BROTHERS FOODS, INC.	1500	\$25.98	\$38,970.00
					COOR COURSE COLUTIONS DRATES: S			
		1		cs	FOR SCHOOLS	1500	\$26.39	\$39,585.00
				- 00				
				- 00			•	, ,
				cs	*MCLANE EXPRESS INCORPORATED	1500		, , , ,
					*MCLANE EXPRESS INCORPORATED	1500		

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	RANCH (BUTTERMILK) DRESSING, DRY MIX,							
0.4	NO MORE THAN 50mg SODIUM PER SERVING SIZE, NO ARTIFICIAL COLORS OR FLAVORS,			00	KENT PRECISION FOODS	400	***	* 0 5 00 00
84	18 PKGS/CS	Y		CS	INCORPORATED	400	\$16.40	\$6,560.00
				cs	BYRNE BROTHERS FOODS, INC.	400	\$25.15	\$10,060.00
85	PEPPERS, RED, DICED, PEELED, SWEET, 24/#303 CNS/CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	\$38.00	\$1,900.00
	RICE, BROWN, INFUSED, MEXICAN FLAVOR, 51% WHOLE GRAIN, PARBOILED, PRE-							
86	SEASONED, QUICK PREPARATION TIME	Υ		CS	BYRNE BROTHERS FOODS, INC.	3000	\$23.80	\$71,400.00
				cs	*MCLANE EXPRESS INCORPORATED	3000		
				cs	KENT PRECISION FOODS INCORPORATED	3000	\$27.28	\$81,840.00
	RICE, BROWN, INFUSED, PILAF STYLE, 51% WHOLE GRAIN PARBOILED, ROASTED							
87	CHICKEN FLAVOR, PRE-SEASONED, QUICK PREPARATION TIME	N	зто	cs	BYRNE BROTHERS FOODS, INC.	1500	\$24.30	\$36,450.00
		Υ		cs	*MCLANE EXPRESS INCORPORATED	1500		
	RICE, BROWN, LONG GRAIN, 51% WHOLE GRAIN, PARBOILED, 25# BAGS, UNCLE BEN'S							
88	OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	\$10.98	\$1,098.00
				CS	*MCLANE EXPRESS INCORPORATED	100		
				cs	INDIAN HARVEST SPECIALTIFOODS INC	100	\$22.50	\$2,250.00
89	SALAD OIL, VEGETABLE	Υ		CS	BYRNE BROTHERS FOODS, INC.	300	\$43.58	\$13,074.00
	(CPT) SAUCE, BUFFALO WING, NO MORE THAN 400mg SODIUM PER 1 TBSP SERVING,							
	ZERO TRANS FATS, BLEND OF CAYENE PEPPER, VINEGAR, AND MARGARINE, 4/1							
90	GAL/CS	Υ		CS	KENS FOODS INC	100	\$34.23	\$3,423.00
				cs	BYRNE BROTHERS FOODS, INC.	100	\$44.95	\$4,495.00
		•	•	-				

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
	SAUCE, THAI CHILI, 4/51b PLASTIC BOTTLES							
91	OR SMALLER PACK	Υ		CS	BYRNE BROTHERS FOODS, INC.	50	\$21.80	\$1,090.00
	SEASONING, LEMON & CRACKED PEPPER, NO							
	SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR							
92	EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	\$59.10	\$5,910.00
				CS	*THE VALDEZ CORPORATION	100		
	SEASONING, TOASTED ONION & GARLIC, NO							
93	SALT, NO SUGAR, NO MSG, 6/16 OZ/CS, CHEF PAUL SEASONING BLEND OR EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	\$35.70	\$1,785.00
							400	V 1,100.00
	SEASONING, PIZZA & PASTA MAGIC, LOW							
	SALT, NO SUGAR, NO MSG, 6/19.2 OZ/CS, CHEF PAUL MAGIC SEASONING BLEND OR							
94	EQUAL	Υ		cs	BYRNE BROTHERS FOODS, INC.	50	\$44.15	\$2,207.50
	SEASONING PACKETS, FRUIT SEASONING, CONTAINS CHILI PEPPERS, SALT AND							
	DEHYDRATED LIME JUICE, NO MORE THAN 130mg SODIUM PER 1 GRAM PACKAGE, 1000							
95	PKG/CS			cs		250	NB	NB
96	SLUSH DRINKS, BLUE RASPBERRY, 100% JUICE, SHELF STABLE, 60/CS.	N	зто	cs	SUNNY SKY PRODUCTS LLC	1000	\$15.66	\$15,660.00
			- 1					÷ :=,000.00
		Υ		cs	*TROPICAL PARADISE INC DBA COOL TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$16.99	\$16,990.00
	SLUSH DRINKS, CHERRY LIMEADE,							
97	INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS.	N	зто	cs	SUNNY SKY PRODUCTS LLC	1000	\$15.66	\$15,660.00
		v		CC	*TROPICAL PARADISE INC DBA COOL	1000		
		Υ		CS	TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$16.99	\$16,990.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	SLUSH DRINKS, KIWI STRAWBERRY, INDIVIDUALLY PACKAGED, 100% JUICE,							4.7
98	SHELF STABLE, 60/CS	N	3TQ	CS	*TROPICAL PARADISE INC DBA COOL	1000	\$15.66	\$15,660.00
		Υ		cs	TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$16.99	\$16,990.00
99	SLUSH DRINKS, ORANGE MANGO, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	N	зто	cs	SUNNY SKY PRODUCTS LLC	1000	\$15.66	\$15,660.00
	, , , , , , , , , , , , , , , , , , , ,		5.2				V.0.00	Ų i dijadaliad
		Υ		cs	*TROPICAL PARADISE INC DBA COOL TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$16.99	\$16,990.00
100	SLUSH DRINKS, WHITE GRAPE PEACH, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	N	зто	cs	SUNNY SKY PRODUCTS LLC	1000	\$15.66	\$15,660.00
		Y		cs	*TROPICAL PARADISE INC DBA COOL TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$20.99	\$20,990.00
101	SLUSH DRINKS, CONCORD GRAPE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	Y		cs	*TROPICAL PARADISE INC DBA COOL TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$21.74	\$21,740.00
102	SLUSH DRINKS, SOUR APPLE, INDIVIDUALLY PACKAGED, 100% JUICE, SHELF STABLE, 60/CS	Y		cs	*TROPICAL PARADISE INC DBA COOL TROPICS	1000		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1000	\$20.99	\$20,990.00
	SOUP BASE, BEEF, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, LIQUID NOT ACCEPTED, INGREDIENT STATEMENT READS BEEF AND BEEF STOCK, ETC, 64 TO 1							
103	CONCENTRATE, 12/1# CS	Υ		cs	CUSTOM CULINARY INCORPORATED	500	\$23.61	\$11,805.00

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				Ce	BYRNE BROTHERS FOODS, INC.	500	\$36.00	\$18,000.00
				CS	BTRNE BROTTLERS FOODS, INC.	300	ψ30.00	\$10,000.00
104	SOUP BASE, CHICKEN, SALT FREE, NO MSG, NO TRANS FAT, PASTE FORM ONLY, NO LIQUID, INGREDIENT STATEMENT MUST READ CHICKEN, INCLUDING NATURAL CHICKEN JUICES, CHICKEN FAT, ETC, 64 TO 1 CONCENTRATE, 12/1#/CS	Y		cs	CUSTOM CULINARY INCORPORATED	500	\$19.76	\$9,880.00
								* '
				cs	BYRNE BROTHERS FOODS, INC.	500	\$34.08	\$17,040.00
	SOUP BASE, CREAM, DRY MIX, NO TRANS FAT, NO MORE THAN 9 GRAMS OF FAT AND							
105	950mg SODIUM PER SERVING, LOWER PREFERRED, 6/28oz/CS	Y		cs	*C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	100		
100	, NEI EINEE, 0/2005 00	·			KENT PRECISION FOODS INCORPORATED	100	\$26.22	\$2,622.00
				cs	CUSTOM CULINARY INCORPORATED	100	\$27.55	\$2,755.00
				66	DVDNE DDOTHEDS FOODS INC	100	£20.40	#2.040.00
400	SOY MILK, VANILLA, PACIFIC NATURAL FOOD				BYRNE BROTHERS FOODS, INC.		\$38.10	\$3,810.00
106	OR SUNRICH BRANDS ONLY, 24/8 OZ/CS	Υ		CS	BYRNE BROTHERS FOODS, INC.	100	\$22.00	\$2,200.00
	SOY SAUCE, LOWER SODIUM, NO MORE THAN 575mg PER TLB, 6/1/2 GAL PLASTIC							
107	BOTTLES/CS	Υ		cs	CONAGRA FOODS INCORPORATED	150	\$10.99	\$1,648.50
				cs	BYRNE BROTHERS FOODS, INC.	150	\$38.25	\$5,737.50
108	SPICE, BLACK PEPPER, REGULAR GROUND, 5# CONTAINER	Y		CZ	*THE VALDEZ CORPORATION	200		
100	ON PAINLIN			CIN	THE VALUE CONTONATION	200		
				CN	BYRNE BROTHERS FOODS, INC.	200	\$33.38	\$6,676.00
				CN	*MCLANE EXPRESS INCORPORATED	200		
	SPICE, CHILI POWDER, GROUND, MILD							
109	ROBUST FLAVOR, AMERICAN MADE PRODUCT ONLY, 5# OR LESS CONTAINER	Υ		CN	BYRNE BROTHERS FOODS, INC.	100	\$12.58	\$1,258.00

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				CN	*THE VALDEZ CORPORATION	100		
				CN	*MOLANIC EXPRESS INCORPORATED	400		
				CN	*MCLANE EXPRESS INCORPORATED	100		
110	SPICE, CINNAMON, GROUND, 1# OR LESS CONTAINER	Υ		CN	*MCLANE EXPRESS INCORPORATED	100		
				CN	BYRNE BROTHERS FOODS, INC.	100	\$17.88	\$1,788.00
	SPICE, CUMIN, GROUND, 1# OR LESS							
111	CONTAINER	Y		EA	*MCLANE EXPRESS INCORPORATED	100		
				EA	BYRNE BROTHERS FOODS, INC.	100	\$23.88	\$2,388.00
112	SPICE, FAJITA, LOW SODIUM, NO MSG, 1# PACKAGES	N	1NL	PK	BYRNE BROTHERS FOODS, INC.	500	\$2.16	\$1,080.00
			2.72				V2	\$1,000.00
				DI	KENT PRECISION FOODS	500	644.40	AF 745 00
		Υ		PK	INCORPORATED	500	\$11.49	\$5,745.00
	SPICE, GARLIC, GRANULATED, AMERICAN							
113	MADE PRODUCT ONLY, 5#	Y		CN	BYRNE BROTHERS FOODS, INC.	200	\$26.95	\$5,390.00
				CN	*MCLANE EXPRESS INCORPORATED	200		
				CN	*THE VALDEZ CORPORATION	200		
	SPICE, ONION, GRANULATED, AMERICAN							
114	MADE PRODUCT ONLY, 5#	N	1NL	cs	*MCLANE EXPRESS INCORPORATED	200		
		Υ		CS	BYRNE BROTHERS FOODS, INC.	200	\$16.90	\$3,380.00
				cs	*THE VALDEZ CORPORATION	200		
				- 63	THE VALUEZ CONFORATION	200		
	(CPT) SPICE, ITALIAN SEASONING, NO ADDED							
115	SALT, AMERICAN MADE PRODUCT ONLY, 1# CONTAINERS		480	cs	*MCI AND EVERESS INCORRORATED	50		
115	CONTAINERS	N	1NL	CS	*MCLANE EXPRESS INCORPORATED	50		
		Υ		cs	BYRNE BROTHERS FOODS, INC.	50	\$3.28	\$164.00
116	SPICE, PAPRIKA, LIGHT, 1 LB	Υ		CN	BYRNE BROTHERS FOODS, INC.	75	\$4.48	\$336.00
				CN	*MCLANE EXPRESS INCORPORATED	75		
,	ODIOS DADOLEY DDIST				DVDNE DDOTUESS SCORE		44	****
117	SPICE, PARSLEY, DRIED, 1 LB	N	3TQ	EA	BYRNE BROTHERS FOODS, INC.	200	\$6.98	\$1,396.00
		Υ		EA	*MCLANE EXPRESS INCORPORATED	200		
L	I			-/A	MOJANI- LAINESS INGONFUNATED	200		

	I				I			
Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
118	SPICE, PEPPER, RED CRUSHED, BULK	Y		cs	*MCLANE EXPRESS INCORPORATED	50		
				cs	BYRNE BROTHERS FOODS, INC.	50	\$14.28	\$714.00
119	SPICE, SALT, IODIZED, TABLE, 24/26 OZ/CS	Y		CS	BYRNE BROTHERS FOODS, INC.	200	\$13.22	\$2,644.00
				CS	*MCLANE EXPRESS INCORPORATED	200		
120	SPORTS DRINK, G2 GLACIER FREEZE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.06	\$15,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$10.84	\$16,260.00
121	SPORTS DRINK, G2 MIXED BERRY CLEAR, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.06	\$15,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$10.84	\$16,260.00
122	SPORTS DRINK, G2 ORANGE, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.06	\$15,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1500		
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$10.84	\$16,260.00
123	SPORTS DRINK, G2 FRUIT PUNCH, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.06	\$15,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1500		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$10.84	\$16,260.00
124	SPORTS DRINK, G2 LEMON-LIME, LOW CALORIE, NO MORE THAN 10 CAL PER 20 OZ BOTTLE	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$10.06	\$15,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1500		_
-								

		Award				_		Extended
Line#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				CS	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$10.84	\$16,260.00
	SRIRACHA HOT CHILI SAUCE, LOW SODIUM							
125	PREFERRED, 6/5# PLASTIC BOTTLES/CS	Υ		CS	KENS FOODS INC	150	\$28.62	\$4,293.00
				cs	BYRNE BROTHERS FOODS, INC.	150	\$33.80	\$5,070.00
126	SUGAR SUBSTITUTE, P.C., 1 GR, 2000/CS	Y		CS	BYRNE BROTHERS FOODS, INC.	20	\$20.50	\$410.00
127	SUGAR, BROWN, 5 OR 10# BAGS	Υ		BG	BYRNE BROTHERS FOODS, INC.	100	\$21.25	\$2,125.00
128	SUGAR, GRANULATED, P.C., 2.8 GR., 2000/CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	100	\$16.70	\$1,670.00
	SUGAR, POWDERED, 10X WHITE REFINED, SUCROSE OF SUGAR COMPONENT NOT LESS							
129	THAN 99.5%, 10LB BAGS	Υ		BG	BYRNE BROTHERS FOODS, INC.	200	\$25.80	\$5,160.00
130	SUGAR, WHITE, GRANULATED, 5 OR 10LB BAGS	Υ		BG	BYRNE BROTHERS FOODS, INC.	100	\$19.45	\$1,945.00
	SYRUP, PANCAKE & WAFFLE, MAPLE FLAVOR, P.C., 1.5 OZ CUP PREFERRED,							
131	100/1.5 OZ CUPS/CS OR SIMILAR	N	9PS	CS	BYRNE BROTHERS FOODS, INC.	4000	\$7.30	\$29,200.00
		Υ		cs	*MCLANE EXPRESS INCORPORATED	4000		
				cs	*ADVANCE SALES & MARKETING INCORPORATED	4000		
				CS	CONAGRA FOODS INCORPORATED	4000	\$23.13	\$92,520.00
	TACO BOAT, 51% WHOLE GRAIN, STONE							
	GROUND WHOLE CORN MASA, NO TRANS FAT, PACKAGED IN CLEAR WRAPPERS,							
132	BOXED TO PREVENT BREAKAGE	Υ		CS	*BRAUN BEEF CO INC	600		
				cs	*CHURCHFIELD TRADING CO.	600		
	TACO SEASONING MIX, LOW SODIUM							
133	VARIETY, NO MORE THAN 270mg SODIUM PER SERVING, 6 LB/CS	Υ		EA	KENT PRECISION FOODS INCORPORATED	200	\$16.56	\$3,312.00

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
LIIIC#	item bescription	(1714)	Reason	OOW	Зиррне	Qty	THE	FIICE
				EA	BYRNE BROTHERS FOODS, INC.	200	\$16.88	\$3,376.00
	TACO SHELLS, CRISPY, 51% WHOLE GRAIN							
	YELLOW CORN, 5 TO 6" LONG, PACKAGED IN CLEAR WRAPPERS, BOXED TO PREVENT							
134	BREAKAGE, NO TRANS FAT	Y		cs	TYSON PREPARED FOODS INC	300	\$11.40	\$3,420.00
				cs	BYRNE BROTHERS FOODS, INC.	300	\$21.50	\$6,450.00
135	TEA BAGS, GOOD QUALITY, 48/1 OZ OR 96/1 OZ	Y		cs	*MCLANE EXPRESS INCORPORATED	200		
133	OZ	,		O.S	INCLANCE EXPRESS INCOMPORTED	200		
				cs	JNS FOODS INC	200	\$11.86	\$2,372.00
				cs	BYRNE BROTHERS FOODS, INC.	200	\$12.68	\$2,536.00
	TOASTER PASTRIES, 51% WHOLE GRAIN, BROWN SUGAR CINNAMON, SINGLE PACK							
136	ONLY, DOUBLE NOT ACCEPTED, NO SPRINKLES	Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	\$31.09	\$31,090.00
				CS	*MCLANE EXPRESS INCORPORATED	1000		
	TOASTER PASTRIES, 51% WHOLE GRAIN,							
137	STRAWBERRY, SINGLE PACK ONLY, DOUBLE NOT ACCEPTED, NO SPRINKLES	Υ		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	\$31.09	\$31,090.00
				cs	*MCLANE EXPRESS INCORPORATED	1000		
				35	The state of the s			
138	TOMATILLOS, CANNED, 6#10/CS	Υ		cs	BYRNE BROTHERS FOODS, INC.	200	\$29.58	\$5,916.00
139	TOMATOES, DICED, PACKED FROM FRESH TOMATOES ONLY, 6/#10 CANS/CS	Υ		cs	*CHURCHFIELD TRADING CO.	200		
				cs	BYRNE BROTHERS FOODS, INC.	200	\$17.98	\$3,596.00
				- 53	DIME BROTHERS FOODS, INC.	200	φ11.36	φ3,33 0.0 U
				cs	*MCLANE EXPRESS INCORPORATED	200		

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				CS	CONAGRA FOODS INCORPORATED	200	\$21.25	\$4,250.00
140	TORTILLAS, 51% WHOLE GRAIN CORN, 4.5", 6/50ct/CS OR SIMILAR	Υ		cs	*MCLANE EXPRESS INCORPORATED	800		
				-00	*PRAUN PEFF CO INC	000		
				CS	*BRAUN BEEF CO INC	800		
					SYSCO USA INCORPORATED DBA SYSCO			
				cs	NORTH TEXAS	800	\$22.75	\$18,200.00
				-00	TYGON PREPARED FOODS ING	200	***	*40.000.00
				CS	TYSON PREPARED FOODS INC	800	\$23.85	\$19,080.00
	TORTILLA CHIPS, INDIVIDUALLY WRAPPED,							
141	LOW SODIUM, 51% WHOLE GRAIN CORN MASA FLOUR, 80 BAGS/CS	Υ		cs	*ADVANCE SALES & MARKETING INCORPORATED	1500		
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1500	\$21.30	\$31,950.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	1500	\$24.02	\$36,030.00
	TORTILLA CHIPS, 51% WHOLE GRAIN CORN, UNSALTED, PRE-FRIED IN VEGETABLE OIL,							
142	NO TRANS FAT, 3/2# BAG/CS	N	3TQ	CS	BYRNE BROTHERS FOODS, INC.	8000	\$6.48	\$51,840.00
		Υ		cs	TYSON PREPARED FOODS INC	8000	\$6.57	\$52,560.00
		Y		US	TISON FREFARED FOODS INC	8000	\$0.57	\$32,360.00
				cs	THE MASTERS DISTRIBUTION SYSTEMS	8000	\$13.25	\$106,000.00
				cs	*MCLANE EXPRESS INCORPORATED	8000		
					*ADVANCE SALES & MARKETING			
				cs	INCORPORATED	8000		
				cs	*BRAUN BEEF CO INC	8000		
				30	D.U.G. DELI GO ING			
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	8000	\$17.25	\$138,000.00
							Ţ i 25	, , , , , , , , , , , , , , , , , , , ,
143	VANILLA EXTRACT, QT.	Υ		QT	BYRNE BROTHERS FOODS, INC.	400	\$2.98	\$1,192.00
	MINECAR MULTIFER ANDREW							
144	VINEGAR, WHITE, 5% ACIDITY, GOOD QUALITY, 4/1 GAL/CS	Υ		cs	*BRAUN BEEF CO INC	1000		

Line#	Item Description	Award (Y / N)	Reason	иом	Supplier	Qty	Price	Extended Price
				66	DVDNE DDOTHEDS FOODS INC	4000	£0.70	£0.700.00
				CS	BYRNE BROTHERS FOODS, INC.	1000	\$8.78	\$8,780.00
	WATER, BOTTLED, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, TRUCKLOAD							
	ORDERS, 24/16.9 OZ/CS, NESTLE PURE LIFE,							
145	OZARKA, OR OTHER NATIONAL BRAND PERFERRED	Υ		cs	NESTLE WATERS NORTH AMERICA	15000	\$2.80	\$42,000.00
				cs	*MCLANE EXPRESS INCORPORATED	15000		
	WATER ROTTLER ENTERED UNELAVORED IN							
	WATER, BOTTLED, FILTERED UNFLAVORED IN PLASTIC SCREW TOP BOTTLES, FEATURING							
	HOLIDAY LABEL WRAPPED PLASTIC bOTTLES, 24/8 OZ/CS, NESTLE PURE LIFE,							
	OZARKA, OR OTHER NATIONAL BRAND							
146	PERFERRED	Υ		CS	NESTLE WATERS NORTH AMERICA	2500	\$2.40	\$6,000.00
				cs	MCLANE EXPRESS INCORPORATED	2500		
	WATER, FLAVORED, NON-CARBONATED,							
147	BERRY FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR	Υ		CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	400	\$13.28	\$5.312.00
147	PROFEE OR SIMILAR	'		03	NORTH TEXAS	400	ψ13.20	φ3,312.00
				CS	*MCLANE EXPRESS INCORPORATED	400		
				CS	THE MASTERS DISTRIBUTION SYSTEMS	400	\$13.78	\$5,512.00
	WATER, FLAVORED, NON-CARBONATED,							
148	LEMON FLAVOR, NO MORE THAN 5 CAL/8 OZ, PROPEL OR SIMILAR	Υ		CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	400	\$13.28	\$5,312.00
140	TROPEL OR SIMILAR			CO	NORTH TEXAS	400	ψ13.20	ΨJ,312.00
				cs	*MCLANE EXPRESS INCORPORATED	400		
				- 53	INCLAIRE EAFREGO INCORPORATED	400		
						46-		AB =
		-		CS	THE MASTERS DISTRIBUTION SYSTEMS	400	\$13.78	\$5,512.00
	FRUIT PUREE TUBE, IW,100% FRUIT PUREE,							
149	MINIMUM DRY SHELF LIFE 352 DAYS, 32 TUBES PER BOX/8 BXS/CS	N	1NL	cs	*MCLANE EXPRESS INCORPORATED	500		
				, ,,			·	

Line#	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Y		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	500	\$62.82	\$31,410.00
	APPLE CRISPS, DRIED, NATURAL STRAWBERRY FLAVOR ADDED, NO ALLERGENS, 0.34 OZ PACKAGES, 125/0.34oz/CS			cs		750	NB	NB
	PAN RELEASE, GARLIC FLAVOR, AEROSAL, HIGH YIELD, MINIMUM 90% OIL, NO WATER, GRAIN ALCOHOL, SALT, OR INORGANIC COMPOUNDS, ZERO CALORIES PER SPRAY, NO CFC'S OR ADDED TRANS-FATS, 6/14 OZ/CS	Y		cs	PARWAY TRYSON	200	\$17.35	\$3,470.00
				cs	BYRNE BROTHERS FOODS, INC.	200	\$25.00	\$5,000.00